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IfS={A,B,C},A,BandC
_| are mutually exclusive events
such that P (A) =0.25and

P (B)=0.4then P (C)=

o8 ¢ {_>,cg._1c i }:ug_uLS\J\

v Yo = (1) ddua ddlie Glaal > ¢

=(=>)dd v i=(x)Jd«

0.1

Y

0.15

n‘\o

0.35

. ‘VO

If A and B are two independent
events such that :

P(A)=0.2 ,P(B)=0.6
thenP (AUB)=

0.12

0.32




If x is a random variable with
mean equals 120 and standard
deviation equals 6 ,then its
coefficient of variation =

s adasi gia (A glie e n OIS 1)
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the mean =

If x is a discrete random variable with
range{0,1,3,5} andP(x=0)=§
P(x=1)= é and P(x=3):i ,then

Lelagia 0ol glie T pata npe i< 1))
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If x is a normal random variable with
mean i = 165, its standard deviation
Is g and P(x = 180 )= 0.0062 ,then

b e e ne il 13

el 48l jail 5V 10 = adas i

WY =(VA <) de o

If x is a discrete random variable with
range={0,1,2 }andits
distribution function is determine by
the relation f(x) = ? then the

value of a =
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A man and his wife have insured their
life at a life insurance company. If the

company has estimated the probability
that the man will live more than 60
years to be 0.2 and the probability that
his wife will live more than the same
period of time to be 0.3, then the
probability that the man and his wife
will live more than 60 years together
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) i) Ll ) Jelas aa o
Calculate the Pearson’s correlation R G Opmom L) de =

coefficient between the two variables oS ) Ae g g a e

x and ¥ and identify its type if : M=ol WN=uTX
2X=68,Xy=36,2xy=348 ,
>x?=620,Yv*=204 and n=8

Yih=gam X

Yei=Tha oW ="X




If x Is a continuous random variable

where :
1

f(xj:{gx where 3 <= x <5

ZETo otherwise

e Prove that f(x) is a density function
to the random variable x.
e Find P (x>4)
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If A and B are two independent
events of sample space for a
random experiment such that
P(B)=04, P(ANB)=0.24,
find P (AUB")
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A machine in a factory produces
cylinders of lengths follow a normal

distribution whose mean is 56 cm and
the standard deviation is 2 cm. The
cylinder is only valid if its length ranges
from 51 cm to 60 cm. A random sample
has been randomly chosen out of 1000
cylinders. How many cylinders are
expected to be valid?
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From the data in the next table: - ) Jgaall il e ||

X|19]12/11/14,10|12
y [15/20]19[23|17]18 W N YEIN I o
Find the regression line equation I RASRAN RANRAN RS NTC)
then estimate the value of y if a dad )3 o5 jlasiy) dad Aldlas aa




In a study about the relation between
the students’ levels in statistics and

~| mathematics, the degrees of six

students have been as follows:

Degrees of
statistics(x)
Very good
excellent
Very good

Degrees of
mathematics
good
Very good
excellent

Calculate the Spearman’s rank
correlation coefficient among the
degrees and identify its type.
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